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Z@2) =1 +1/3% +1/5% +1/7* +1/9% +1/11% + - -
=1 +1/22 +1/3% +1/4 + 1/52 +1/62 +1/7? - = - (1/2?2 +1/4*> +1/62 + - -)
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¢ @) 159%|=> x -2=0

¢ (2) 249E|1= x2-8x +8=0

¢ (2) 3RE= x* -18x? +48x -32=0

¢ (2) 459E|=> x* -32x3 +160x2 -256x +128=0

¢ (2) 59E|I= x> -50x* +400x° -1120x2 +1280x -512=0

¢ (2) 6 7E|= xb -72x° +840x* -3584x° +6912x> -6144x +2048=0

& (2) 75EI= x' -98x° +1568x° -9408x* +26880x° —-39424x% +28672x -8192=0
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¢ () 3REID x* —18x2 +48x -32=0 D=MRIF. TED 2(2) 3D &H A1, A2, A IZXHIET B 1/cos? (57 /12) .
1/cos?Bm/12) . 1/cos’(m/12) 13 %, BE. LEBEAAEBRXDEDDLZERIF, F—EFIEL T TIZEA
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A= 1+ 1/112 +1/13% +1/232 + 1/25? +1/35% + - = = (7 /12)%/cos? (57 /12)
A2=1/32 +1/9% +1/15% +1/21%2 + 1/27% +1/332 + - « = (1 /12)%/cos? 37 /12)
A3=1/52 +1/7% +1/17% +1/19% + 1/292 +1/312 + = « = (7 /12)?/cos? (1 /12)

M +A2 +A3=2(Q) THB EHOMYET, A, A2, BMRZQ) 35HTHS,
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1/cos? (5 /12) =8+443

1/cos?(3 7 /12) =2

1/cos?(m /12) =8-4473
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ST, —BoRBARK f(x) =a X" +a,; X" +a,X" 2+ « = +3,=0 DO#FBKXD . KOLSIZEEIN5B,
fX)=0MBZ a1, ar, a3, * = AT HE.
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¢ (2) 453E]=> x* -32x® +160x? -256x +128=0 —@
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Bl 5= ai=1/cos?(71/16)
B2 5= a,=1/cos?(5m/16)
B3 Mi5=> as;=1/cos?(31/16)
B4 5= a4=1/cos? (7 /16)
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Bl= 1 +1/15% +1/17% +1/31% +1/33% +1/47% + - « = (1 /16)?/cos? (17 /16)
B2=1/3% +1/13% +1/19% +1/29% +1/35% +1/45% + - - = (7 /16)?/cos? (57 /16)
B3=1/5% +1/11% +1/21% +1/27% +1/37% +1/43% + - - = (7 /16)?/cos? (37 /16)

B4=1/7% +1/9? +1/23? +1/25? +1/39? +1/412 + - - = (7 /16)?/cos? (7 /16)



B1 +B2 +B3 +B4=7(2) =n?%/8 THHZ MM 3, Bl, B2, B3, BANZ(2) 4B TH5.
1/cos8?( ) DED ZEHE L=#ER(E. LITO&EY,

1/cos2(1/16) = 8 +44 2 + 4y 2+ 2) +24 (4+24°2)

1/cos?2(bw/16) = 8 -4y 2 + 4y (2-42) -2¢ (4-24°2)

1/cos?(Br/16)= 8 -4y 2 - 44 (2-y 2) +24 (4-24°2)

1/cos?(m/16) = 8 +44° 2 - 44 2+ 2) -24 (4+24°2)
"
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D,=536870912=2*'4"

2REMNL T HEIETORREZIANTRT & REBYFET,

|=D, =23« 22
|]=>D3=210 . 38
|J=>D4:221 - 4t
|]=>D5=236 - 5o
|J=>D6:255 - 66
]=>D7=278 .77
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& (2)=1+1/2% +1/3* +1/4 +1/5* +1/6* + - - =7%/6
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L) 14E= x -1=0

L(1) 25 &= x* -2x -1=0

L(1) 39E= x* -3x* -3x +1=0

L(1) 4 9E= x* -4x* -6x* +4x +1=0

L(1) 59E= x° -5x* -10x* +10x?> +bx -1=0

L(1) 6 5E= x° -6x° -15x* +20x® +15x2 -6x -1=0

L) 7 9EI= x’ -7x® -21x° +35x* +35x* -21x* -7x +1=0
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[EHAFEK]
¢ (2) 198> x -2=0
¢ (2) 257E|=> x*-8x +8=0
¢ (2) 359 E|=> x° -18x% +48x -32=0
¢ 2) 4 9E|= x* -32x3 +160x? -256x +128=0
¢ (2) 59E|I= x> -50x* +400x° -1120x2 +1280x -512=0
& (2) 6 EI= x5 -72x° +840x* -3584x° +6912x%> -6144x +2048=0
& (2) 79EI= x’ -98x% +1568x> -9408x* +26880x° -39424x* +28672x -8192=0
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